Answers Day 6

Finding Equivalent Fractions

DIRECTIONS: Chocsae e best answer

1 Which of the following is nat squivalent to 57 l
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2. Tiwe puzzie hiad 100 pleves, Biyht uf Lhwe pleves
were solid white. Which fraction does not
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3. Which of the following is not equivalent to ;7

,—, 0
\i/, 1“
¢
10 !
e 2 i
AR |
|
a 8 ]
R T |

4. Which of the following Is equivalent to %? .
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2. This frastien pisturs shaws that ; means the
same as which other traction?




Directions: Circle the fractions in each row that are equivalent to the fraction in the first column. The

first one has been done for you,
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Simplify Fractions (Remember you must do the same thing to the
numerator and denominator.)

Practice

Directions: For Numbers 1 through 8, simplify each fraction.
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